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Solve the Equations

Round your answers to the nearest hundredth if needed.

7y O
1) -21=-5+9(h-2)
=2| ==54h-(

—2( = 23t h
13 423

2=9h
\ﬁ “c,
2) -31+4n=-8(2n+5)
=3\ +4¢Nh=—(6n —Yo
ten  tbn
<3l t20Nn=—Co

+3) atd

2o = =l 1
%20 %20

3) -7Tv-9+3=-27
~N=§ =27
¢

+6

2R

5) -26= 8(7b+2)
=26 = sth-t({
L ~6

——({) = 8¢ l)
%6 XS¢

7 he &

b.

L]
oy

o 3\*\

6) -6(8c-5)= 32
~4pC 430+ 3>

-3 30
—tec =2
""’(ég "YX’

= N
7) 4B +2a)= 26

20 448G :«2(§ Qz
- 0

pa= €

=g <€

-2

"
\

8) -7k+6-9k=-18
—lé,\<+66=1(9

bl = -2
~—loK ‘5:"(’
e —2¢ _ 3
—{6 - >,

9) 9f-8f=-33

f==33

A Y
10) 7(8d-9)=-29-2d

%c( —63=-2y-2¢|.
t2d +2d O{: %

£3= 23
S_Hﬂs r(s/ =Ll

29
d=3Y
g?{nv 158



Name :

Score :

keij

Teacher :

Date :

Solve the Equations

Round your answers to the nearest hundredth if needed.

1) 3c+2-4= 23

3C -2= >3
2
¢ =>3:~,

C= B33 o
v O
2) 7(8h-9)=-31

SCh-63= -3
<63 “63

sbh=32

%56 314

3) -4f+2f=-29

‘Z'P = 2?
x-2 =7
b2

4) 35=-3n+9n

36= 6N
he 3
v Y
5) -3-2(1+9d)= 15 d{ 20
-2 - (8d =8 8
e 2 iy =
+Ss: (J I O{ 1

<
6) 5@v+9)=-22-7v

20V + 45 = 22"V
_20\/ .—2.:\/

G5 -2 -~ 61

42 42

7) 28+8a= 2(6a + 3)

20t86= (26 +6 .
-fq b4 O= 22U
k= 4atl /\ 2y
22= ¢Q
¢ x§
8) 29=-4(3s +2)
7.9-—0-5'-9

+8 S-
37 =- lzs

$-2 2

9) 20= 5+3(x+6)
20z §4 3% +(§
o = IK+2}
<3 -23 -7<: ’,
—}_3 X3
10) 5(9+§y)= 34
dstloy =3y
~\y 4

= ~({
(_:::C <o

7/° ~(o



